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In this writing assignment students are introduced to the concept of age dependency ratios. Students will first compute these ratios for the United States and interpret them by using them in informative sentences. Using future population estimates, students can recompute these ratios and reflect on possible consequences of the aging of the American population. The same ratios are computed for Ireland and for a Third World country providing relative context for the U.S. numbers.
The following ratios for the United States in 2002, and their definitions, came from the U.S. Census Bureau www.census.gov :

	·The age dependency ratio, 59.8,  is derived by dividing the combined under-18 and 65-and-over populations by the 18-to-64 population and multiplying by 100.

	·The old-age dependency ratio, 19.3, is derived by dividing the population 65 and over by the 18-to-64 population and multiplying by 100.

	·The child dependency ratio, 40.5, is derived by dividing the population under 18 by the 18-to-64 population and multiplying by 100.


1. Using current estimated population figures for the United States, compute the populations in the three different age categories used for these ratios.
2. Compute these ratios using the updated population estimates and the derivation rules above.

3. Are these ratios part to part or part to whole?  Explain.

4. The derivation rules seem to be giving a percentage, is it possible to interpret these ratios as percentages?  Explain.

5. Use each ratio in a sentence comparing the populations of the relevant age categories.  What significance does each ratio have, i.e. why would someone bother to compute it?
6. Which of these ratios would increase as the population of the US continues to age?
7. Find population estimates of these age categories at some point in the near future and re-compute the ratios.  Write a small paragraph comparing the ratios now with the future predictions.  What are some possible consequences of the changing ratios?
8. Ireland has experienced a recent economic boom, and some have attributed this to a declining age dependency ratio.  Explain why this makes sense. 
9. Use the world factbook: https://www.cia.gov/library/publications/the-world-factbook/ to compute the dependency ratios for Ireland.  The age structure breakdown given in the world factbook is 0-14 and 15-64, which is different from the under 18 age breakdown above.  How will the different age structure affect each ratio?
10. How do you think the dependency ratios for a Third World country would compare to the United States?  Explain why you think so.
11. Once again use the world factbook to compute the dependency ratios for a Third World country and compare with both the US and with Ireland in a few sentences.
